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Question 3

Of all the rectangles with an area of 25 square feet, find the dimensions of
the one with the smallest perimeter.
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Find the dimensions of the playground that will enclose the greatest total
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area.
a) 320 by 210 feet with the divider 210 feet long
b) 300 by 300 feet with the divider 300 feet long
©) 310 by 210 feet with the divider 310 feet long
d) 300 by 200 feet with the divider 200 feet long

e) 295 by 205 feet with the divider 296 feet long

Question 6
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Question 7

Find the voordinates of the point(s) on the curve 3y — 18 2% that are
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Question 8

Find the coordinates of the point(s) on the LU[’\L y = r + 2 that are
closest to the point (5, Q).
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A rectangle has one side on the x-axis and the upper two vertices on the
graphof y — e 37 Where should the vertires be placed so as to maximize
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The figure below shows a region that consists of a semi-circle on top of a 8‘ X X ; g’ L[- 2. 4 ,
rectangle. Give the value of \ that maximizes the area of the region 1f the O Tm
circumference of the region is 8 Y-Qstrﬁm g? 0 < K> ‘D
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